130 12.5 pdf Quiz 10/3/24

l.| Find an eq. of the plane  that passes through the pls:
(0 \1|) (1,0 ‘)» (|1| O)

ler P=(or,1), G (V,000) RN, 0)

Need 9 direction vechors that lie on he plane :
Pa. = (=0,0-1, -1 =4 ,-1,0>
PR=C1,0,-1> o

To ge’r ‘the ﬂor‘mu\ ,  (coss ‘produc-\' PG x PP\

Pa.* PR = K\: ‘ J) \ ‘-\]
\ -l o] 0 - ) - i 0O
| 0 - | -
= (N EN =000 (e -0 ) K (10 = (=) 1)
o \+J+K

(of\\lef‘\' => (\,l Y7 N
15 ofr geﬂera‘ plane : o (X -%) +b(y- Yo ) +C(z - Zo) 0
{a,b C> <"|1‘> ) (Xow\jo ,zo) = any pt- (P x, OFR)
(x-0)+1(y-1)+1(z-1)=0
X+ Ytz =2

2. | Find +he intersechon of dhe line r(#)=41,1,0% + £{0,2.4) £
the plaae x+ y+z = Y
FEAY = 01,09 140,247 = O, 14 28 4D

scalac form = Y = | , Yy |+ 2¢ 172="H.’

rCrof)Hab T =Y 23 (k= =Y =12 =7 =2
x=l y y=l+2:2=5 , 2-4-2°§

The intersechion of fhe lne 4 Hne plane given by the preblem is
'H\Q P*’: (l h! 5 ,€3 ’




